BEEERX

.I‘l
fllif=

RAJLIE

Ra %

BH w08

B S0 5

A —ER

f L0 5

I it 18 &8

SHALTE

oL

—~
E3

KEETNAETT AILE

R— £

I R K

=

il

S AN EEVE

SH5E(1A~6AK)

=
]

FRIHA

15
13
10
11
23

10

15
10
23

0]
0]
0]
0]

0]
0]
0]
0]
0]

W1TH
2T H
B3TH
KM1IT H
RUN2T H
KWM3T H
K4 T H
1T H
2TH
3TH
471TH

&

)

&

&
EES3TH
EEZ4TH
EFH1TH
52T H
53T H
ERfHE1T H
Ef&2T A
ERf&3T A
EfH4T A
ER&5T A
ERa6T H

EEm2TH

HiHET4AT B
JEE>1T B

Hi)IlFg5 T B
KEFET1T B
KEFHT2T H
REFET3T H
KIFHT4T H
RHT
KFH1IT B
KFnH2TH
KFH3TH
KFnH4TH
KFHS5TH
RELITH
HIHET1IT B
HiIFET2T B
HIFET3 T B

*f

miJI1T A
miJIl2T A
)3T H
mi)ll4T H
mlE1T B
12T B
Hi)lIFE3T B
Hi)llm4 T B

BT H

R
R
R
R

N/
|E]
fi

fin




A —ER

KEETNAETT AILE

=

0]
0]
0]
0]

0]
0]
0]
0]
0]
0]

il

SH5E(1A~6AK)

—lo|o|—~|o
BEERX
oSlolololo
.I‘I
fllif=4
Slololoo
R I
=
NN
< olo|o|—~|o
W& w0 ¢
ololololo
FIELSOS
—|o|o|o|o
L RCPIUNS
ololo|o|o
[ 34T B &
=
o
s o|o|o|o|o
Vlk— 1 Y&
olo|o|ole
I i 1 &8
(o] el feo) fev) Hao)
S AN EEVE
e
% = mm m
mZ +3 =
# [FoSEE
SagiSagiSadicel
RE §E BE E [

FiHE2TH
HA1T H
A3 H
FES1T H

HA2T H
A

HH i (7 Hh)
HF1T B

1

TH&ITH
THEH2TH
THE3TH
HH1ITH
2T H
HE3TH
HHATH
BE5TH
wE6TH
ZEFfNHE1TH
EAR3TH
ER4ATH
EA5T H
ERT7TTH
EAST H
H5 T H
FafiAR1T H
FafiA2T A
hES 2T A
HES3TH
HES>4TH

Ia]
MFE4TH

E451T H
E452T B
E43T B
E454T H
E45T H
E467T B
E457T H
HH2TH
HH3TH
HrH4TH
HFrH5 T H
w1 TH
EAR6 T H
HE2T B
H3T H
i

*\




¥

KEEWNATT AILER

=

il

SH5E(1A~6AK)

BEEERX

21

.I‘l
fllif=

RAJLIE

Ra %

BH w08

THRALIE

~
E3

B0 5

L0 5

15

I 4t 18 &8

R— £

0]

I R K

0]

0]

0]

0]

0]

S AN EEVE

=
]

FRIHA

HES55T H
FLI1TH
FL2T H
FL3TH
F4T H
JEAS (75 1)
JFARLT B

JFAR2TH

WARFIH1IT H
HAFIH2T H
WEDITH

JFAR3TH
JFAR4TH

HE2T H

HE3T H
HH1TH
2T H
HH3TH
HHATH
HH5TH

i1 T H

FHITH

SEH3TH
AT B
1% (F5Hh)
fR1TH
1=2TH
=)
ZE G lT
b HET4AT H
W2ZWN1T H
H2z2MN2T B
H2ZMN3T H
WoWN4T H
WoWN5T H
FRKE1T B
FRE2T B
A REF3 T H
m/\E1T H
m/\i%&2T B
m/\IE3 T H

FH2TH

A /\i&4 T H

i J\i%&5 T H
HARLT B
HAR2T B




SH5E(1A~6AK)

MINEREZEERNETALERNER—F

47 1)

R

=

P last)
2=E

FHRE

AL

RAILIE

T

EY 8

B 48 1 |

<

0 &5 I 4

-

O &5 50

<
-

5 Ok HE

Da

C

o

F

;

SEIHE

EYNCRRNE

EYN Y=

EYNSRNE

= AR6T B

AL51TH

A4 2TH

AJEG3TH

J\IELT H
J\IE2T H
J\IE3T H

— | —

— | —

J\IE4T H
J\IEST H
J\IE6 T H

#E1TH
#E2TH
=31 H

o] (o) (o] o] [o] (o] (o] [e] (e} [ [} (o] (o] (o] (e} (e} ()

(el (e} I (e} L} (e} [JV) [op] "= KOV ol INGl ol fen )l Fanll (o fan)

(=] [=] [=] [=] (=] [=]} (o] Pl (o] (o) (o) (o] (o] (o) () (o] (]

(e} [a) (o] (o) (e} [} [«) [\V] V] I (o) (el (o) (e fa] (o) f)

=1 == =] =1 =) =l =l =1 =] =] =] =] = =] I =]

(=) el [l (el ol [} [JV) Ne)l [o2) (o2 1 [JVN [ WG] Il Iol kel [ WG] fenl]

TR

at

=l | (=] [=] [=) [e] o] (o} (o) (o] (] [a] (o) (o] (o] [a) [e) (o] (]

il | (=] [=] [=] [o] [a] (e} (o) (o] (o] (e} (o) (o] (a] (e} () [a) (]

[ | (=] [=] (=] [a) (o) (o] (o] (e} (o} (o] (o] (e} (e} [e] (o] () )

255

—
e

o~
S

[\
(]

el =3 =1 =1 =] =] =1 =1 =1 =1 =l vl =1 =1 =l =l =1 =]

355

—
[e2)

ATAF A1 b

|
w

|
DO

\]

27

-19

25

-21

-3

16




	年間累計

